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◊ÊäÿÁ◊∑§ ¬⁄UËˇÊÊ, 2011 
SECONDARY EXAMINATION, 2011 

ÁflôÊÊŸ ó ¬˝Õ◊ ¬òÊ  
( SCIENCE — First Paper )   

‚◊ÿ — 3 
1
4   ÉÊá≈U 

¬ÍáÊÊZ∑§ — 40

¬⁄UËˇÊÊÁÕ¸ÿÙ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —  
General Instructions for Examinees : 
 (1) ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ – 
  Candidate must write first his / her Roll No. on the question 

paper compulsorily. 
 (2) ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U – 
  All the questions are compulsory. 
 (3) ¬à̋ÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¢ – 
  Write the answer to each question in the given answer-book 

only. 
 (4) ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 23 fl 24 ◊¥ •ÊãÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –  
  There are internal choices in Question Nos. 23 & 24. 
 (5) ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 2 ‚ 5 Ã∑§ •ÁÃ ‹ÉÊÍûÊ⁄UÊà◊∑§ „Ò¥ U –  
  Question Nos. 2 to 5 are Very Short Answer type questions. 
 (6) Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ‚◊ÊŸ •¢∑§ flÊ‹ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§ 

‚ÊÕ ‚ÃÃ˜ Á‹π¥ – 
  For questions having more than one part carrying similar 

marks, the answers of those parts are to be written together in 
continuity. 
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  (7) ¬˝‡Ÿ ‚¢ÅÿÊ 1 ◊¥ øÊ⁄U ÷Êª  ( i, ii, iii ÃÕÊ iv ) „Ò¥U – ¬˝àÿ∑§ ÷Êª ∑§ øÊ⁄U Áfl∑§À¬         
•, ’, ‚ •ÊÒ⁄U Œ ÁŒÿ ªÿ „Ò¥U – ‚„UË ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ÁŸêŸÊŸÈ‚Ê⁄U ÃÊÁ‹∑§Ê 
’ŸÊ∑§⁄U ŒËÁ¡∞ — 

  There are four parts ( i, ii, iii, iv ) in Question No. 1. Each part 
has four alternatives A, B, C and D. Write the letter of the 
correct alternative in the answer-book at a place by making a 
table as mentioned below : 

 ¬̋‡Ÿ ∑̋§◊Ê¢∑§ 
Question No. 

‚„Ë ©UûÊ⁄U ∑§Ê  
∑˝§◊ÊˇÊ⁄U  

Correct letter of 
the Answer 

 

 1.       (i)    
 1.       (ii)   
 1.       (iii)   
 1.       (iv)   

1. (i) 2H 2  O 2 
 ÁÇ‹‚⁄UËŸ

 → 2H 2   O + O 2   •Á÷Á∑˝§ÿÊ ◊¥ ÁÇ‹‚⁄UËŸ ∑§Ë ÷ÍÁ◊∑§Ê Á∑§‚ M§¬ 
◊¥ „ÒU ?  

 (•) œŸÊà◊∑§ ©Uà¬˝⁄U∑§ (’) ´§áÊÊà◊∑§ ©à¬˝⁄U∑§ 
 (‚) SflÃ—-©Uà¬˝⁄U∑§ (Œ) ¡Òfl-©Uà¬˝⁄U∑§ – 
 The role of glycerine in the reaction  

  2H 2  O 2 
 glycerine

 → 2H 2   O + O 2    

 is 

(A) Positive catalyst  

(B) Negative catalyst 

(C) Auto-catalyst  

(D) Bio-catalyst.     1
2   

 (ii) ÿÁŒ ∞À∑§ËŸ üÊáÊË ◊¥ n = 3 „UÙ ÃÙ ∞À∑§ËŸ ∑§Ê ‚ÊœÊ⁄UáÊ ŸÊ◊ „UÙªÊ 
 (•) ∞ÁÕ‹ËŸ (’) ¬˝ÙÁ¬‹ËŸ 
 (‚) éÿÍ≈Ë‹ËŸ (Œ) ∞‚Ë≈UË‹ËŸ – 
 If in alkene series n = 3, then the simple name of alkene will be 

 (A) Ethylene (B) Propylene 

 (C) Butylene (D) Acetylene. 1
2   
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(iii) ∞∑§ √ÿÁQ§ ‚◊Ã‹ Œ¬¸áÊ ‚ 2 ◊Ë≈U⁄U ŒÍ⁄U π«∏UÊ „ÒU – √ÿÁQ§ ÃÕÊ ©U‚∑§ ¬˝ÁÃÁ’ê’ ∑§ ’Ëø 
ŒÍ⁄UË ◊Ë≈U⁄U ◊¥ „UÙªË  

 (•) 1 (’) 2 
 (‚) 3 (Œ) 4.  
 A man is standing 2 metre away from a plane mirror. The 

distance between the man and its image in metre will be 

 (A) 1 (B) 2 

 (C) 3  (D) 4. 1
2   

 (iv) ÿÁŒ ∞∑§ øÊ‹∑§ ÃÊ⁄U ∑§Ë ‹ê’Êß¸ ÃËŸ ªÈŸË ÃÕÊ ÁòÊÖÿÊ •ÊœË ∑§⁄U ŒË ¡Êÿ¢ ÃÙ ©U‚∑§Ê 
ÁflÁ‡ÊCÔU ¬˝ÁÃ⁄UÙœ „UÙªÊ 

 (•) •¬Á⁄UflÁÃ¸Ã  (’) 1·5 ªÈáÊÊ 
 (‚) ÃËŸ ªÈáÊÊ (Œ) •ÊœÊ – 
 If the length of a conducting wire is tripled and radius halved, 

then its specific resistance will be 

 (A) unchanged (B) 1·5 times 

 (C) three times (D) halved.  1
2   

2. ªS∑§≈U ’ŸÊŸ ◊¥ Á∑§‚ ⁄U’⁄U ∑§Ê ©U¬ÿÙª Á∑§ÿÊ ¡ÊÃÊ „ÒU ? 
 Which rubber is used for the manufacture of gaskets ? 1

2   

3. flÊSÃÁfl∑§ ÃÕÊ •Ê÷Ê‚Ë ¬˝ÁÃÁ’ê’ ◊¥ ∑§Ùß¸ ∞∑§ •ãÃ⁄U ŒËÁ¡∞ – 
 Give any one difference between real image and apparent image. 1

2   

4. •◊Ë≈U⁄U ÃÕÊ flÙÀ≈U◊Ë≈U⁄U ◊¥ ∑§Ùß¸ ∞∑§ •ãÃ⁄U Á‹Áπ∞ – 
 Write any one difference between ammeter and voltmeter. 1

2   

5. ⁄U◊Ÿ ¬˝÷Êfl ÄÿÊ „ÒU ? 
 What is Raman effect ? 1

2   

6. ©Uà¬˝⁄U∑§ Áfl· ÃÕÊ ‚◊Ê¢ªË ©Uà¬˝⁄UáÊ ∑§Ë ¬Á⁄U÷Ê·Ê ŒËÁ¡∞ – 
 Define catalytic inhibitor and homogeneous catalyst. 1

2  + 12  = 1 
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7. ÁŸêŸ ◊¥ ‚ ∑§ıŸ-‚Ë •Á÷Á∑˝§ÿÊ •ÊÚÄ‚Ë∑§⁄UáÊ ÿÊ •¬øÿŸ ∑§Ë „ÒU ? 
 (•) 2FeCl  3  → 2FeCl  2  + Cl  2   

 (’) SnCl  2  + Cl  2 → SnCl  4    

 Which of the following reactions is oxidation or reduction ? 

 (a) 2FeCl  3  → 2FeCl  2  + Cl  2   

 (b) SnCl  2  + Cl  2 → SnCl  4    1
2  + 12  = 1 

8. ŸÊ◊¸‹ NaOH ∑§Ê pH ∑§Ê ◊ÊŸ Á‹Áπ∞ – ß‚∑§Ê ∑§Ùß¸ ∞∑§ ‹ˇÊáÊ Á‹Áπ∞ – 

 Write pH value of a normal NaOH. Write its any one characteristic. 

   1
2  + 12  = 1 

9. flÊÿÈ◊á«U‹ ◊¥ •Ù¡ÙŸ ¬⁄UÃ ∑§Ë ©U¬ÿÙÁªÃÊ ÄÿÊ „ÒU ?  

 What is the utility of ozone layer in atmosphere ? 1 

10. ⁄UÁ»˝§¡⁄U≈UU⁄U ∑§ ©U¬ÿÙª ∑§ Á‹∞ ∑§Ùß¸ ŒÙ ‚ÊflœÊÁŸÿÊ° Á‹Áπ∞ – 
 Write any two precautions for use of a refrigerator. 1

2  + 12  = 1 

11. ÁŸêŸ ∑§Ù ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ — 

 (•) ©Uc◊Ê‡ÊÙ·Ë •Á÷Á∑˝§ÿÊ 
 (’) ©Uc◊ÊˇÊ¬Ë •Á÷Á∑˝§ÿÊ 
 (‚) ÁflSÕÊ¬Ÿ •Á÷Á∑˝§ÿÊ –   
 Define the following : 1

2  + 12  + 12  = 1 
1
2   

 (a) Exothermic reaction 

 (b) Endothermic reaction 

 (c) Displacement reaction. 

12. •Á÷∑§Ê⁄U∑§Ù¥ ∑§Ë ‚Êãº˝ÃÊ ‚ •Á÷Á∑˝§ÿÊ Œ⁄U Á∑§‚ ¬˝∑§Ê⁄U ¬˝÷ÊÁflÃ „UÙÃË „ÒU ? ¬ÿ̋Ùª mÊ⁄UÊ  
‚◊¤ÊÊß∞ – 

 How does concentration of reactants affect the rate of a reaction ? 

Explain by experiment.12  + 1 = 1 
1
2   
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13. ⁄UÊ‚ÊÿÁŸ∑§ ‚Êêÿ ∑§ ∑§Ùß¸ ÃËŸ ‹ˇÊáÊ Á‹Áπ∞ –   
 Write any three characteristics of chemical equilibrium. 

   1
2  + 12  + 12  = 1 

1
2   

14. ∞∑§ ‡ÊÈc∑§ ‚‹ ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊ∑§⁄U ß‚∑§Ë ŒÙ ⁄UÊ‚ÊÿÁŸ∑§ •Á÷Á∑˝§ÿÊ∞° ŒËÁ¡∞ – 
Drawing labelled diagram of a dry cell, give its two chemical reactions. 

 1
2  + 1 = 1 

1
2   

15. ∞∑§ 6 •Ù◊ ∑§ ¬˝ÁÃ⁄UÙœ ÃÊ⁄U ∑§Ù ÃËŸ ‚◊ÊŸ ÷ÊªÙ¥ ◊¥ Áfl÷ÊÁ¡Ã Á∑§ÿÊ ¡ÊÃÊ „ÒU – ŒÙ ÷Êª ∑§Ù 
‚◊ÊãÃ⁄U ∑˝§◊ ◊¥ ¡Ù«∏U∑§⁄U ÃË‚⁄U ÷Êª ∑§Ù üÊáÊË∑˝§◊ ◊¥ ¡Ù«∏UÊ ¡ÊÃÊ „ÒU – ‚¢ÿÙ¡Ÿ ∑§ ÃÈÀÿ ¬˝ÁÃ⁄UÙœ 
∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ –  
Resistance wire of 6 ohm is divided into three equal parts. Two parts 
are connected in parallel and third part is connected in series. 

Calculate equivalent resistance of the combination. 1 
1
2   

16. ÁfllÈÃ ∑˝§Ÿ ∑§Ë Á∑˝§ÿÊÁflÁœ ‚◊¤ÊÊß∞ – ß‚∑§Ê ÁøòÊ ’ŸÊß∞ –   
Explain the working of an electric crane. Draw its diagram. 1 + 

1
2  = 1 

1
2   

17. ∞∑§ •ÊŒ‡Ê¸ ≈˛UÊ¢‚»§Ê◊¸⁄U ∑§Ë ÁmÃËÿ∑§ ∑È§á«U‹Ë ◊¥ »§⁄UÙ¥ ∑§Ë ‚¢ÅÿÊ 200 ÃÕÊ ¬˝flÊÁ„UÃ œÊ⁄UÊ    
2 ∞Áê¬ÿ⁄U „ÒU – ÁŸª¸Ã ‡ÊÁQ§ ∞∑§ Á∑§‹ÙflÊ≈U „ÒU – ¬˝ÊÕÁ◊∑§ ∑È§á«U‹Ë ◊¥ 100 flÙÀ≈U Áfl÷fl ∑§ 
Á‹∞ »§⁄UÙ¥ ∑§Ë ‚¢ÅÿÊ ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ – 
Secondary coil of an ideal transformer has 200 turns and 2 ampere 
current is flowing in it. Output power is one kilo-watt. Calculate the 

number of turns in the primary coil for 100 volt potential. 1 
1
2   

18. ÉÊ⁄UÙ¥ ◊¥ ÁfllÈÃ ©U¬∑§⁄UáÊ Á∑§‚ ‚¢ÿÙ¡Ÿ ◊¥ ‹ªÊÿ ¡ÊÃ „Ò¥U ? ß‚ √ÿflSÕÊ ∑§ ŒÙ ‹Ê÷ Á‹Áπ∞ –  
In which combination are the electric appliances connected in  

houses ? Write two advantages of this arrangement.  12  + 1 = 1 
1
2   

19. (•) ∞∑§ Á∑§‹ÙflÊ≈U-ÉÊ¢≈UÊ ( kWh )  ™§¡Ê¸ ∑§Ê ◊ÊŸ ¡Í‹ ß∑§Êß¸ ◊¥ ’ŒÁ‹∞ – 
 (’) 220 flÙÀ≈U ¬⁄U ¡È«∏U ∞∑§ 110 flÊ≈U ∑§ ’À’ ∑§ ÃãÃÈ ∑§Ê ¬˝ÁÃ⁄UÙœ ÃÕÊ ¬˝flÊÁ„UÃ œÊ⁄UÊ ∑§ 

◊ÊŸ ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ –  
 (a) Convert one kilo-watt-hour ( kWh ) energy in joule unit. 

 (b) Calculate the resistance and current flowing in the filament of 

110 watt bulb connected to 220 volt. 1
2  + 1 = 1 

1
2   
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20. ©U‚ flÒôÊÊÁŸ∑§ ∑§Ê ŸÊ◊ Á‹Áπ∞ — 

 (•) Á¡ã„¥ ““å‹ÊÁS≈U∑§ ‚¡¸⁄UË ∑§Ê Á¬ÃÊ”” ∑§„UÊ ¡ÊÃÊ „ÒU – 
 (’) Á¡ã„UÙ¥Ÿ π ( ¬Êß¸ ) ∑§Ê ◊ÊŸ ‚ÁÛÊ∑§≈U 3·1416 ÁŒÿÊ – 

 (‚) Á¡ã„UÙ¥Ÿ “÷Ê⁄UÃËÿ •¢ÃÁ⁄UˇÊ •ŸÈ‚¢œÊŸ ‚¢SÕÊŸ” ( ISRO ) ∑§Ë SÕÊ¬ŸÊ ∑§Ë –   

 Write the name of the scientist :  

 (a) known as "Father of plastic surgery". 

 (b) who gave the approximate value of π ( Pi ) 3·1416. 

 (c) who established 'Indian Space Research Organisation' ( ISRO ). 

   1
2  + 12  + 12  = 1 

1
2   

21. (•) ∑§Ë≈UŸÊ‡ÊË Á∑§‚ ∑§„UÃ „Ò¥U ? 

 (’) ©UŒ⁄ UÁfl· ÃÕÊ œÍ◊Ÿ ∑§Ë≈UŸÊÁ‡ÊÿÙ¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ – 

 (‚) ª̋»§Êß≈U ∑§Ë ‚¢⁄UøŸÊ ∑§Ê ÁøòÊ ’ŸÊß∞ –   
 (a) What are insecticides ? 

 (b) Explain two insecticides – stomach poison and fumigants. 

 (c) Draw the structure of graphite. 1 + 2 + 1 = 4 

22. ß¸-∑§Ê◊‚¸ ÄÿÊ „ÒU ? ß‚∑§Ë üÊÁáÊÿÙ¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ –  

What is E-Commerce ? Explain its series. 1 + 3 = 4 

23. (•) ∑§ÊÚ¬⁄U ¬Êß⁄UÊß≈U ÃÕÊ ∑§ÊÚ¬⁄U Ç‹Êã‚ ∑§ ⁄UÊ‚ÊÿÁŸ∑§ ‚ÍòÊ Á‹Áπ∞ – 

 (’) ‚Ë◊ã≈U ’ŸÊŸ ∑§Ë ÁflÁœ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ – 

 (‚) ªÈL§àflËÿ ¬ÎÕÄ∑§⁄UáÊ mÊ⁄UÊ •ÿS∑§ ∑§ ‚Êãº˝áÊ ∑§ Á‹∞ ¬ÿ̋ÈQ§ ©U¬∑§⁄UáÊ ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ 
’ŸÊß∞ –  

•ÕflÊ 

 (•) Á‹◊ÙŸÊß≈U ÃÕÊ •Êÿ⁄UŸ ¬Êß⁄UÊß≈U ∑§ ⁄UÊ‚ÊÿÁŸ∑§ ‚ÍòÊ Á‹Áπ∞ – 

 (’) å‹ÊS≈U⁄U •ÊÚ»§ ¬Á⁄U‚ ’ŸÊŸ ∑§Ë ÁflÁœ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ – 

 (‚) ’‚◊⁄U ¬Á⁄UflÃ¸∑§ ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊß∞ –  
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(a) Write chemical formulae of copper pyrite and copper glance. 

(b) Describe the method of manufacturing cement. 

(c) Draw the labelled diagram of the apparatus used for 

concentration of ores by gravitational separation process.  

  1 + 2 + 1 = 4 

OR 

(a) Write the chemical formulae of limonite and iron pyrite. 

(b) Describe the method for manufacture of Plaster of Paris.  

(c) Draw the labelled diagram of Bessemer converter. 1 + 2 + 1 = 4 

24. (•) Á’ê’ ÃÕÊ ¬˝ÁÃÁ’ê’ ∑§Ë ¬˝∑§Ê‡ÊËÿ ∑§ãº˝ ‚ ŒÍ⁄UË ∑§ ¬ŒÙ¥ ◊¥ ‹¥‚ ∑§Ê ‚ÍòÊ Á‹Áπ∞ – 

 (’) πªÙ‹Ëÿ •¬flÃ¸∑§ ŒÍ⁄UŒ‡ÊË¸ ∑§Ë ’ŸÊfl≈U ÃÕÊ ∑§ÊÿÁ̧flÁœ ∑§Ù ‚◊¤ÊÊß∞ – Á∑§⁄UáÊ ÁøòÊ 
’ŸÊß∞ – 

•ÕflÊ 

 (•) Á∑§‚Ë ‹ã‚ ∑§ ¬ŒÊÕ¸ ∑§ •¬flÃ¸ŸÊ¢∑§, fl∑˝§ Ã‹ ∑§Ë fl∑˝§ÃÊ ÁòÊÖÿÊ ÃÕÊ »§Ù∑§‚ ŒÍ⁄UË ◊¥ 
‚ê’ãœ Á‹Áπ∞ – 

 (’) ‚¢ÿÈQ§ ‚Íˇ◊Œ‡ÊË¸ ∑§Ë ’ŸÊfl≈U ÃÕÊ ∑§Êÿ̧ÁflÁœ •Êfl‡ÿ∑§ Á∑§⁄UáÊ ÁøòÊ mÊ⁄UÊ ‚◊¤ÊÊß∞ – 
(a) Write the formula of lens in terms of object and image distances 

from the optical centre. 

(b) Explain the construction and working of astronomical refracting 

telescope. Draw ray diagram. 1 + 2 + 1 = 4 

OR 

(a) Write the relation between refractive index of a material of lens, 

radius of curvature and focal length. 

(b) Explain the construction and working of compound microscope 

by drawing necessary ray diagram.  1 + 2 + 1 = 4 
   


